CAPITAL BUDGETING PRACTICE QUIZ

28. (Ignore income taxes in this problem.) The Baker Company purchased a piece of equipment

with the following expected results:

Useful life ......coceovveevivinnennen. 7 years
Yearly net cash inflow ........ $50,000
Salvage value......ccoovvnvuranne $0
Internal rate of return........ 20%
Discount rate.........c.ccceuenenn. 16%

The initial cost of the equipment was:
A, $300.100
B. $180,250

. $190,600

D. Cannot be determined from the given information.
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CAPITAL BUDGETING PRACTICE QUIZ

28. (Ignore income taxes in this problem.) The Baker Company purchased a piece of equipment
with the following expected results:

Useful life «.smmsmssmssavenss 7 years
Yearly net cash inflow ........ $50,000
Salvage value........coervreennenn. $0
Internal rate of return........ 20%
Discount rate.........c.ceeuenene. 16%

The initial cost of the equipment was:

A. $300,100

B. $180,250

C. $190,600

D. Cannot be determined from the given information.

The internal rate of return is the rate of return at which the net present value of the project is
zero.

Present

Amount of 20% Value of
Item Year(s) Cash Flow Factor  Cash Flows
Initial investment...........ccoocvvviniinnnine Now X) 1.000 X)
Yearly net cash inflow........cccccovnnn... 1-7 $50,000 3.605 $180,250
Net present value .........ccoveevevveenerennee $0

-X + $180,250 = $0
X =$180,250

AACSB: Analytic

AICPA BB: Critical Thinking

AICPA FN: Measurement

Bloom's: Application

Learning Objective: 13-01 Evaluate the acceptability of an investment project using the net
present value method

Learning Objective: 13-02 Evaluate the acceptability of an investment project using the internal
rate of return method

Level: Hard



29. (Ignore income taxes in this problem.) The Yates Company purchased a piece of equipment
which is expected to have a useful life of 7 years with no salvage value at the end of the 7-year
period. This equipment is expected to generate a cash inflow of $32,000 each year of its useful
life. If this investment has a internal rate of return of 14%, then the initial cost of the equipment

IS:
A. $150.000

C. $12,800

D. $343,360
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29. (Ignore income taxes in this problem.) The Yates Company purchased a piece of equipment
which is expected to have a useful life of 7 years with no salvage value at the end of the 7-year
period. This equipment is expected to generate a cash inflow of $32,000 each year of its useful
life. If this investment has a internal rate of return of 14%, then the initial cost of the equipment
is:

A. $150,000

B. $137,216

C. $12,800

D. $343,360

The internal rate of return is the rate of return at which the net present value of the project is
zero.

Present

Amount of 14% Value of
Item Year(s)  Cash Flow Factor  Cash Flows
Initial investment..........c.ccovvveeiiiiinnnns Now X) 1.600 xX)
Yearly net cash inflow...........oconeen. 1-7 $32,000 4.288 $137,216
Net present value .........ccccocvvevererenennn, $0

-X + $137,216 = $0
X=$137,216

AACSB: Analytic

AICPA BB: Critical Thinking

AICPA FN: Measurement

Bloom's: Application

Learning Objective: 13-01 Evaluate the acceptability of an investment project using the net
present value method

Learning Objective: 13-02 Evaluate the acceptability of an investment project using the internal
rate of return method

Level: Hard



30. (Ignore income taxes in this problem.) The following information is available on a new piece
of equipment:

Cost of the equipment......... $21,720
Salvage value........cccoeeenne $0
Annual cash inflows............. $5,000
Internal rate of return........ 16%
Required rate of return...... 10%

The life of the equipment is approximately:

A. 6 years

B. 4.3 years

C. 8 year:

D. Itis impossible to determine from the data given.
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30. (Ignore income taxes in this problem.) The following information is available on a new piece
of equipment:

Cost of the equipment......... $21,720
Salvage value........ccccoceennnne. $0
Annual cash inflows............ $5,000
Internal rate of return........ 16%
Required rate of return...... 10%

The life of the equipment is approximately:

A. 6 years

B. 4.3 years

C. 8 years

D. Itis impossible to determine from the data given.

Factor of the internal rate of return = Investment required + Annual net cash inflow
= $21,720 + $5,000

=4.344

The factor of 4.344 for 8 years represents an internal rate of return of 16%.

AACSB: Analytic

AICPA BB: Critical Thinking

AICPA FN: Measurement

Bloom's: Application

Learning Objective: 13-01 Evaluate the acceptability of an investment project using the net
present value method

Learning Objective: 13-02 Evaluate the acceptability of an investment project using the internal
rate of return method

Level: Hard



34. (Ignore income taxes in this problem.) Benz Company is considering the purchase of a
machine that costs $100,000, has a useful life of 18 years, and no salvage value. The company's
discount rate is 12%. If the machine's net present value is $5,850, then the annual cash inflows
associated with the machine must be (round to the nearest whole dollar):

A. $42 /4

C. $13,760

D. Itis impossible to determine from the data given.

| YA

IOOIITWB o [5T

( (/’/( I

n;l?/

/@5{%‘7 &—

I

( /Oé%”D



34. (Ignore income taxes in this problem.) Benz Company is considering the purchase of a
machine that costs $100,000, has a useful life of 18 years, and no salvage value. The company's
discount rate is 12%. If the machine's net present value is $5,850, then the annual cash inflows
associated with the machine must be (round to the nearest whole dollar):

A. $42,413

B. $14,600
C. $13,760
D. It is impossible to determine from the data given.
Item Year(s) Amount of 12% Present Value
Cash Flow  Factor of Cash Flows
Initial investment...........c.coocovvvvnnnnen. Now $(100,000) 1.000 $(100,000)
Annual cash inflows .............oovvvneenn. 1-18 X 7.250 7.250X
Net present value ..........cocceeveveennn $5,850

-$100,000 + 7.250X = $5,850
7.250X = $100,000 + $5,850
X=($100,000 + $5,850) + 7.250 = $14,600

AACSB: Analytic

AICPA BB: Critical Thinking

AICPA FN: Measurement

Bloom's: Application

Learning Objective: 13-01 Evaluate the acceptability of an investment project using the net
present value method

Level: Hard



. (lgnore-income taxes in this problem.) The Jackson Company has invested in a machine that
cos at has a useful life of seven years, and that has no salvage value at the end of its
useful li e The machine is being depreciated by the straight-line method, based on its useful life.
It will have a payback period of four years. Given these data, the simple rate of return on the
machine is closest to:

A.71%

~» ppncel Tugropontnd (15 )

——f

Sinplep - et
ok ot T wdl Tavestmand 1007 -

Tves rent W

o —_ag, ‘J/LA
Paybseh = papanl Wet Cisl Tafised




62. (Ignore income taxes in this problem.) The Jackson Company has invested in a machine that
cost $70,000, that has a useful life of seven years, and that has no salvage value at the end of its
useful life. The machine is being depreciated by the straight-line method, based on its useful life.
It will have a payback period of four years. Given these data, the simple rate of return on the
machine is closest to:

A.T1%

B. 8.2%

C.10.7%

D. 39.3%

Annual incremental cost savings*.........coeevvinen. $17,500
Annual incremental expenses:

Annual depreciation ($70,000 — $0)/7 ............ $10,000 10,000
Annual incremental net operating income ....... $7,500

*Payback period = Investment required + Annual net cash inflow
4 years = $70,000 + Annual net cash inflow
Annual net cash inflow = $70,000 + 4 years = $17,500 yearly cash flow

Simple rate of return = Annual incremental net operating income =+ Initial investment
= $7,500 + $70,000 = 10.70%

AACSB: Analytic

AICPA BB: Critical Thinking

AICPA FN: Measurement

Bloom's: Application

Learning Objective: 13-05 Determine the payback period for an investment

Learning Objective: 13-06 Compute the simple rate of return for an investment
Level: Hard
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69. (Ignore income taxes in this/problem.) Blaine Corporation is considering replacing a

technologically obsolete machine a-new state-of-the-art numerically controlled machine.
The new machine would & would have a ten-year useful life- ately, the
new machine would have nosaiva alue—The new machine would cost $12,000 peSyear to
operate and maintain, but would sage $4¢ or year in labor and other ¢osts: The old machine

(round off your answer to the
A. 10.00%
B. 26.67%

arest one-hundredth of a percent)?

Yz ow — 13,00 = (4 V0




136. (Ignore income taxes in this problem.) The management of an amusement park is
considering purchasing a new ride for $40,000 that would have a useful life of 10 years and a
salvage value of $4,000. The ride would require annual operating costs of $19,000 throughout its
useful life. The company's discount rate is 8%. Management is unsure about how much
additional ticket revenue the new ride would generate-particularly because customers pay a flat
fee when they enter the park that entitles them to unlimited rides. Hopefully, the presence of the
ride would attract new customers.

Required:

How much additional revenue would the ride have to generate per year to make it an attractive
investment?

v
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136. (Ignore income taxes in this problem.) The management of an amusement park is
considering purchasing a new ride for $40,000 that would have a useful life of 10 years and a
salvage value of $4,000. The ride would require annual operating costs of $19,000 throughout its
useful life. The company's discount rate is 8%. Management is unsure about how much
additional ticket revenue the new ride would generate-particularly because customers pay a flat
fee when they enter the park that entitles them to unlimited rides. Hopefully, the presence of the
ride would attract new customers.

Required:

How much additional revenue would the ride have to generate per year to make it an attractive
investment?

Present

Amount of 8% Value of
Item Year(s)  Cash Flow Factor  Cash Flows
Initial investment...........cc.cocvcevvriennen Now $(40,000)  1.000 $ (40,000)
Annual operating costs ........cocevvueene 1-10 $(19,000) 6.710 (127,490)
Salvage VAIWE ......oissssmvisssosasnsns 10 $4,000  0.463 1,852
Net present value .........cccoeeeevvecrennnnns $(165,638)

Minimum annual cash flows required = Negative net present value to be offset + Present value
factor

$165,638 + 6.710 = $24,685

This much additional revenue would result in a zero net present value. Any less than this and the
net present value would be negative. Any more than this and the net present value would be
positive.

AACSB: Analytic

AICPA BB: Critical Thinking

AICPA FN: Measurement

Bloom's: Application

Learning Objective: 13-03 Evaluate an investment project that has uncertain cash flows
Level: Hard
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